TEAR—U O THERE (BEEARER)

] &= % ARIENE18A TS BB R R (EEI ) B RE (BIRR TIX4)
BEA Ff1F IR RIEE 8T AM R BB ER R (REIR) B A (B LKA

REBMRTVRAERR EE 2 of

R—Y 25 4 |Ri184-1 | REME | A5 R IR RIS H N dt #| 34° 33 21.87”
S 0 # B | LRREGHERREBT SR SREEHEAR [ 20224F 117 21H ~ 20224E 115 22H O#&|133° 077 50.16”
= B 5 a 7 R=1) >4
BmEREA ETERE | wmA| £ %% % £ %
aom &l - | B || Aw e |st | ssi-caskast
322. 04m - }900 = % g ]
“ # A K5 00m B OT . s = [ "%Oo o |B|TYIY| ¥ re— TFI2M B R > F | A Be-3C B
180°

N R S L :g |48 | F8 | Hh B ;;I;J o 5 A ® OB skbrE| EIR | HI

i = =

N s N = =37 L
| B ﬁ oz PN N/"Ela??"%@ﬁg%?(%ﬁ** -
» u sl fr| v N Bla k]|

R & | + B / Clo|® B

£, T ? ez | 0 [100[200 & ol e

~ - % kit a - o | 2leE = A, A

f B | " E = |8l |EF B

% ﬁj\ ) H 100{200{300, A A A
(m | m [ (m) | & A || E 4 S H 0 0 30 o solfE[ @ R o] BB BB A
3 - ] WIS~ 5725
= 2144 | 060 E%C:. K EHRIEAT S _— E
E 1 S |, 7 R ) ‘ﬂm— I S G 1
; ;—::‘o H 3 e ggﬁékguggg}o@cigé = °—\\_\ e 115 = E
2 e A M I 10 E
F 2.30 3
g e
? 3 i“ —-mn*:‘jj—w ZZ/U % 150 —
3 i " , 1
- 4 E =] 150 > [t 100 E
; ] 317.04 2.00 L 5070 |% 70 i

710



